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QUESTION 1

Which two statements describe nonstop routing? (Choose two.)
A. RPD is running on the backup RE.

B. Graceful restart is required for nonstop routing to function.
C. Peer nodes are not alerted of RE mastership changes.

D. COSD is running on the backup RE.

Correct Answer: AC

QUESTION 2

Which two pieces of information are communicated by I1S-IS TLVs? (Choose two.)
A. network protocols supported

B. designated router priority

C. authentication key

D. PDU Length

Correct Answer: AC

QUESTION 3

A network administrator is configuring IS-IS on a router using interface ge-0/0/3. The router being configured should
only be able to form IS-IS adjacencies with Level 1 routers in its own area.

Which command correctly accomplishes this requirement?
A. set protocols isis interface ge-0/0/3.0 level 1 enable

B. set protocols isis interface ge-0/0/3.0 level 2 disable

C. set interfaces interface ge-0/0/3.0 isis level 1 enable

D. set interfaces interface ge-0/0/3.0 isis level 2 disable

Correct Answer: B

QUESTION 4

Which statement about IS-IS adjacencies is true?
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A. Adjacency formation between Level 1 routers must have the same area ID.
B. Adjacency formation between Level 2 routers must have different area IDs.
C. Adjacency formation between Level 1 routers must have different area IDs.
D. Adjacency formation between Level 2 routers must have the same area ID.

Correct Answer: A

QUESTION 5

-- Exhibit -{master:0} user@switch> show spanning-tree interface Spanning tree interface parameters for instance 0
Interface Port ID Designated Designated Port State Role port ID bridge ID Cost ge-0/0/1.0 142:519 142:519
0.002688027490 10000 BLK ALT (Root-Incon) ge-0/0/2.0 142:520 142:520 4128.0019e2516580 10000 FWD DESG
ge-0/0/3.0 142:521 142:521 4128.0019e2516580 10000 FWD DESG -- Exhibit -Referring to the exhibit, which statement
is correct about the ge-0/0/1 interface?

A. It has transitioned to the loop-inconsistent state.

B. It is root protected and has received a superior BPDU.

C. It has transitioned to a blocking state due to BPDU protection.

D. Itis normally in blocking mode.

Correct Answer: B
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